2R

EE B

%13
08:00

E£5
08:10

£=5
08:20

et
08:30

$hiH
08:40

FNB
08:50

FtH
09:00

EAe
09:10

Ik
09:20

155
09:30

Et+—13
09:40

B+5
09:50

4

s
EE @ BS
@
PERS RE
ARSE
BEER E
s
NEBRE g
ARE
R o
= BR
BE e
BEEAR ORE
5
B2 & 2%
oy
PEAE g
e F
Bi =2
fﬁ%@,m 2%
oy
EERE
NEAE
=}
FOBEM
BER BZR
s
INBERE RE
ARSE
BlFr & 2%
s
EERE
NEBE
=}
TR
Bx oK
oy
BAEAR RE
=}
[EVEEN 2%
s
PEES | g
BEE
BEEE =%
EERE .
PEES | g
BEE
BEEE =%
SR [Ty
IR g
=}
E—KF o
WEHE
s
PRERE g
= F
TR
e | EX

FLBE P Bt A4
BEFHEX

3
02:10.2

pUgEES 2
HikE

5
01:26.4

01:25.3

AR

5
01.57.42

BB

5
02:09.4

BEFHERELP D

2
01:19.8

BEE

8
02:28.9

SRS
hi
6
01:26.7

PR
BEFHEX

5
02:12.5

EHREES
BEFTEX

3
02:13.3

PIEIRTT
(B RR)BE AR

4
01:21.8

BHUEREDE
FHER

5
02:08.6

Suna#i &
HXA(E
BERTEX
4
02:10.3

PIEIRTT
(B FR)BEAHBX

3
01:24.2

BEREA
BZER

01:29.3
6

RENRER

4
01.57.41

AT
hREEM
B

6
02:10.5

AFEEE

8
01:22.3

KERE
BEFTER

3
02:06.7

BHERES
BREAEK

5
01:26.4

filE=3- <
6

02:13.3

BREHER
BE

1
02:10.6

2 %e

3
01:20.9

BB
BEFHEX

6
02:09.5

RisEE

8

02:36.6

PIREE
BEFTEX

ERi0RE S
60

6
01:58.0

I

FEEM
o
4
02:04.3
BEEZEAI
3
5
01:20.9

wmRiAE
pln=y21bi]
BEFTRX
1
01:57.7
RE=[RAE
R
4

01:25.1
S YN
bR

BIRAT

4

02:11.8

AECOM
EERET
9
04:25.5

DEBER

1

01:18.4
HRIERR
e -
R AR
FHERER
2

02:01.5

RESIERER 20255
1 2 3 4 5

AT
hREREM
B

6
02:17.0

RERBER
3

8
01:28.0

SHxIRE
ARAT
BEFTEX
01:28.2
5

DRERE
B

2
01:54.2

B RN
BEFTEX

3
02:03.8

ERIRRE

9
01:27.0

REERER
B

6
02:18.6

RAHE

01:26.8
EEERER
3

1
02:07.7

BEEE
ARAT

5
02:15.7
BEBHE
BHEE B R
Bx ABx

8
01:28.9

LRERD

3
02:02.0

02:03.4

ERWE
REEE

2
01:22.5

o ]
RN

01:26.6
2

REEfR

01:55.0

02:01.4
FERHRA
BELEEM

B

1
01:17.7

EEEERM
&

02:10.4

-

01:18.0

HBEEX
mig

02:14.5

E—LF

miE AR
B

6
01:27.6
#AbRE
E&EH
BEFYBX

1
02:00.7

WHSFEB
=

9
02:51.9
REERER
3

4
01:26.1

BZEEE

01:34.3
8
TBHEIERIE
B

7
02:02.7

HEIRE

02:29.3
Nt+#

4
01:20.0
BEERER
£

7
02:21.7

IS
WHEEREE

2
01:21.4

RREER
BE
8

02.34.42
EEES K

IRARR
Bl
2
02:12.5
RE=[R
BEFFIX
7
01:27.9
HHEBH
BEAE
4
02:03.3

MERS
ARAT
2
02:06.6

ENTHE

9
01:30.3
FEEWE
sre B AEFY

& BE

01:50.7

e
BERE

02:01.7

278

7

01:22.1
HRIERR
e -
R A&
P

2

02:01.8

SIS
IR

|

Ik

BE

¢l

8
01:28.8

HBEER
NEEHE

3
02:10.8

RiERE

7
02:31.5

BEEH
MEBSE

PiREE
BEFTEX

5
02:13 269

H 5T ek
Tt AR RE A X

7
01:27.5

IBREEARIE
B

01:26.8
3

FBREA
BELERER
3

9
02:07.5

KB ERER
3

02:20.6
FNEREA X

6
01:21.5

BHERES
BEEAE

4
02:08.8

2 ke

01:25.0
AECOM

9
02:34.7

EPIRE

8
02:34.1

RKEEE
g-ZRNF

5
01:24.1

EFERERM

02:14.0

9
I
HBIESS

&

01:26.8
AFRIEE

01:33.1
7

mRitRe
BEFYBX

8
02:06.9

RBAE
BEFTEX
7
02:14.8
RBAE
BEFTEX
3

01:19.9
BEBHWE
EE SRR

B

9
02:33.5

7
02:34.4

ZHTR
BEFTEX

6
02:16.7

S

BEFTEX

2
01:19.2

# i

EHI3BEA
PEREES
HI(2215)
54 - 6523
A
PERER
HIE(2935)
E4BEA
NERE®
HI(3035)
555 - 87k
A
NEERER
HIE(2815)
EH4BEA
BRESHE
(1813)
555 - 8
A
EERERE
(25%)
EHI3BEA
PRERE
(2413)
B4 -7RE
A
PHERER
(275)

BATEA
PHEERGER
(1215)

EABEA
NERES
EE(E0H)
5 - 8k
A
PR BR

EE(285)

BATEA
PHEERGER
(1215)

B4BEA
BHRERE
(1813)
$5- 85
A
EMEIRARE
(25%%)

e
ETESTIN
TEERER

Fr

BRE(1915)

BI3BEA
NEEERE
(2319)
%4 -65E
A
NEEIRARE
(2613)

E3REA
PREEER
(2415)



#+=15
10:00

F+5
10:10

F+H5
10:20

EERwAT)
10:30

Ftt5
10:40

EtN\5
10:50

BFtN5
11:00

-y ol
5
11:50

PRERR

BIEFEE

ZREHR

PRERS
NGE=S

BEES
g2&

g\

[+t amir
xmw
S

[+t

S

i
=
i B
B

M}EWM:

’

VIl

]
- =

ot

~2

PRERE
BEE
R
BEHE
NEERE
BB
WEED
2
"L
PERE
BEE
R
HREES
SHE
EREE
El e
28 BF
/NHEE
=
2
2025
BE R
e
&

REERE
=

fio=

ERAH

B S SR A
&

BEER

/NEESR &
&
IDHERE
ES LYy

PREIRER
&
LEER
&

%
BRE
BR
%

BRE

%
RORE

RORE

BEF AP

02:15.7

SEFHE

9
01:54.4

RBEBEAK

02:07.4

=58
PDEEF,

6
01:29.1

WHERES

N

02:02.9
BEFHERELP D

7
02:13.0

BT B
E(AFMK)

1
01:12.3

01:54.0
mi*I%i
ABIRAT
BEFFIX
4
01:30.6
KIS EREE-&
RINF
5
01:20.6

PEIREAE
BEF X

5
02:07.3

KIBC B3

8
02:30.0

2K

3
01:27.2

RIAt
KIBERER
B
7
02:13.1

H 5T R ek
Tt A RE A X

01.19.71
RE=[REE
FHER
6
01:28.4
BBEER
DEBEHE
5
02:07.2

WEE
DEEH,
5

01:26.6

RETREA
NBERFEX

6
02:12.6

EEERER

02:12.0

&

WHEREE

5
01:20.3
HETRE
BEFY R KURE
B
7
02:06.4

AFREE

01:22.5

SENRER

1
01:55.7

(&

BRI

9
03:15.5

RAM S

6
01:29.8

EFEERM
&

2

02:11.3
MathConcep
#

02:32.4

ERWE
REEE

N

01:23.4
ERES K
TRAERA

=
4
02:06.8

£
DEER
RaEPS
3

01:21.3

EEIEYH
BEFTEX

7
02:13.3

R ER
Tt HBRE AR

5
02:12.6

DABRE
wEAE

Dns

00:00.0

BEEE
ARAT

8
02:10.3

BZEEE
7

01:33.4

PIEIRIT
BR)BEFA X

3
01:19.9

RIBBERM
B

02:19.0

6
02:21.0

=RNEF
5
01:28.3

PEEERERT
3
5

02:12.1
ﬁﬂ%i

02:10.7
HEEBIA
BELEEM

B
3

01:16.7

/1

TBHEIERIE

BEFTEX
1

01:23.3

EEERER
3

3
02:06.2
WERE
588l
9

02:10.4
RE=[3
BEFTEX
5
02:12.2

SR PR B4
BERHEX
4
02:12.3

2K

7
01:25.0
DRERR
wBAE
2
01:58.0

BHERE
G
3

01:29.0

E—XT

HUAEHT AR
B

6
01:22.1

BB ERER
B

6
02:08.9

B5EEE

7
02:21.2

mBEK

4
01:28.2

BEEE
ARAT

3
02:11.6

REE D
BEFTEX

WHRES
8
01:30.8

§*?H+a9=

01:25.2
BREE
ARAT

9
02:28.3

BEERER
BE

8
02:21.1

28

01:59.6

WREER

1
01:27.9

BRNEF
2
01:17.6

IBREERIE
BEATEX

4
02:02.3

EEBHs | ®ETH

> A

3 5
02:158 = 02:17.0
EEE =~ AEES

1 2
01:19.6 = 01:26.5

BETEE
TRER | msmum
BERX B

4 1
02:11.8 | 02:07.3
A —
REIS wmase

6 4
02:17.8 | 02:11.4
DEERE | TAMER

2 BRI

9 1
01:19.8  01:14.5
IR |

3 7
01:23.8  01:29.9
Esmes | cusNg
aTe | uHsK

1 7
02:058 = 02:16.1

WE Bl
BEARE | oE

8 1
01:43.0 = 01:18.1
e | RABEE

=

1 4
02:01.7 | 02:10.7
BT annm

1 6
02:04.8 = 02:12.7
EEE = AEES

2 8
01147 V1:59.40

N N 2
AR | WILAR
= mEm  bEED

o7 BEFIBX
PR "

4 5
02:001 = 02:00.2
BOEA |
BEE | i

2 8
01:283  01:37.9
DEREE  RSEEE

1 8
01:166 = 01:22.7
ETA+
KEBES | B

>

7 2
02:112 | 02:01.0

BERBA | EHEERIE
B BERTRX
4 1

UZI15.6Y
02:16.9 1
FREE  EEARA
BERTEX El
8 7
01:38.8 = 01:33.0
BEEHE
BE
8
02:18.1
EBEAN | AHREEA
RPN 3
9 5
02:39.3  02:16.3
EBHULT

BME(E DREEE
)

2 5
01:15.0 | 01:19.1
FKBRE

SERNT

4

01:27.3
EREAY
paiofel

ARAT

8
02:26.3
KELE = HESR
DEER | BRTes

7 2
01:326  01:21.0

=gy | =8EN
weme | Eee

8 3
02:19.5 = 02:07.7
WaHL e
mEmEs TUOE
B ;

9 2
03:053  02:05.2
_ EEREA
shomaig | e

s | PEERR

4 3
01:19.4  01:155
xmun | ETEED

%

6 9
02:00.8 02:14.8
BAME

6
01:32.5
e | BEWE
MEAGE | e

9 4
01:26.1  01:20.2
BRREAE

60

3
02:01.5

E3BEA
PHERES
wmE(2215)
$4-67HE
A
PHEREIR
wE(2915)
E3BEA
NEEERE
(23%)
$4-67HE
A
NEEIRARE
(26%3)
E3BEA
PRESHE
(2413)
F4-772HE
A
PREIRAE
@7%)
Homx/\
PHERES
wmE(2215)
F4-67HE
A
PHREIR

FE(00IR
SRR=FEIAN

NEEERE
(23%)
$4-67HE
A
NEEIRARE
(2RIZ

#3K 85
BABEE

29 K105
B4R AR

81,13, 1615
EH3BAE

11,14, 17
5
ERE=) =]

%4,12,15
5
ERE=) =]

$#3K 85
$5- 8%
&

11,14, 17

B4 -688
&

84 K 1555
8B4 -7EH
&



F_+)\ NERS
] REE
12:35 WEER

E£_+H $ERE
] REE
12:45  HEAZE

NEERE
B=t+i SEHE
12:55  DEEE

eBEE

2 ke

3
01:22.0

PiREE
BEFTEX

1
02:08.9

BEF AP

7
01:22.6

pUgEES

HipkE
8

01:28.9

BEROEA
BAER

3
02:13.1

Nt

1
01:19.1

R
B AIRE AR
4
01:22.7

9
02:17.6
FERIRA
LR
&

2

01:19.9

~

ATEEE

5

01:24.5
Suna#& ]

HKALEH

BEF X
6
02:15.1

REBE
3
01:20.7

ALy %2 K 6%
6 55- 8%
&
01:26.2
TARTRE
= KERERER
}EEEHE’& 3 21,13, 1615
$4-658
8 7 =
02:15.9 = 02:15.7
- %2 %68
5 H4EBEBE

01:21.8



	工作表1

